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QUESTION 1

You want requests from the same internal transport address to be mapped to the same external transport address. Only
internal hosts can initialize the session. Which Junos configuration setting supports the requirements? 

A. any-remote-host 

B. target-host 

C. source-host 

D. address-persistent 

Correct Answer: D 

 

QUESTION 2

What are two network scanning methods? (Choose two.) 

A. SYN flood 

B. ping of death 

C. ping sweep 

D. UDP scan 

Correct Answer: CD 

 

QUESTION 3

You are responding to a proposal request from an enterprise with multiple branch offices. All branch offices connect to a
single SRX device at a centralized location. The request requires each office to be segregated on the central SRX
device with separate IP networks and security considerations. No single office should be able to starve the CPU from
other branch offices on the central SRX device due to the number of flow sessions. However, connectivity between
offices must be maintained. Which three features are required to accomplish this goal? (Choose three.) 

A. Logical Systems 

B. Interconnect Logical System 

C. Virtual Tunnel Interface 

D. Logical Tunnel Interface 

E. Virtual Routing Instance 

Correct Answer: ABD 
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QUESTION 4

Click the Exhibit button. 

user@host> show security flow session extensive Session ID: 1173, Status: Normal Flag: Ox0 Policy name: two/6
Source NAT pool: interface, Application: junos-ftp/1 Dynamic application: junos:UNKNOWN, Application traffic control
rule-set: INVALID, Rule: INVALID Maximum timeout: 1800, Current timeout: 1756 Session State: Valid Start time: 4859,
Duration: 99 

In: 172.20.103.10/56457 --> 10.210.14.130/21;tcp, 

Interface: vlan.103, 

Session token: Ox8, Flag: Ox21 

Route: 0x100010, Gateway: 172.20.103.10, Tunnel: 0 

Port sequence: 0, FIN sequence: 0, FIN state: 0, 

Pkts: 12, Bytes: 549 

Out: 10.210.14.130/21 --> 10.210.14.133/18698;tcp, 

Interface: ge-0/0/0.0, 

Session token: 0x7, Flag: Ox20 

Route: Oxf0010, Gateway: 10.210 14.130, Tunnel: 0 

Port sequence: 0, FIN sequence: 0, 

FIN state: 0,

 Pkts: 8, Bytes: 514 

Total sessions: 1 

A user complains that they are unable to download files using FTP. They are able to connect to the remote site, but
cannot download any files. You investigate and execute the show security flow session extensive command to receive
the result shown in the exhibit. 

What is the cause of the problem? 

A. The NAT translation is incorrect. 

B. The FTP ALG has been disabled. 

C. Passive mode FTP is not enabled. 

D. The FTP session is using the wrong port number. 

Correct Answer: B 

 

QUESTION 5
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An external host is attacking your network. The host sends an HTTP request to a Web server, but does not 

include the version of HTTP in the request. 

Which type of attack is being performed? 

A. signature-based attack 

B. application identification 

C. anomaly 

D. fingerprinting 

Correct Answer: C 
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